A-PLUS WELL SERVICE, INC.

P.O. BOX 1979 FARMINGTON, NM 87499

505-325-2627 • FAX: 505-325-1211

May 5, 2004

New Mexico Oil Conservation Division

Aztec District

1000 Rio Brazos Road Aztec, NM 87410 Invoice 3305

IM 87410

For the plug and abandonment of the **HSGU #10**, a Gallup well located in NE, Section 30, T-31-N, R-16-W, San Juan County, NM. Review report for work details. This work done under NMOCD PA: 41-521-07-00028; Purchase Doc.: 04-199-000549.

Cost Summary:

ID#	Date	Item Description	Units	U	nit Cost	E	xtension
Work	over Rig,	Travel and Supervision:					a constant of the
A1	5/3/04	Contractors Supervisor / Cementer	1.0	\$	250.00	\$	250.00
· A1	5/4/04	Contractors Supervisor / Cementer	0.5	\$	250.00	\$	125.00
A2	5/3/04	Crew travel, one way	2.0	\$	112.00	\$	224.00
A2	5/4/04	Crew travel, round trip time	1.0	\$	112.00	\$	112.00
А3	5/3/04	Shallow Rig	11.25	\$	140.00	\$	1,575.00
A3	5/4/04	Shallow Rig	4.75	\$	140.00	\$	665.00
Ceme	enting Se	rvices:			. *		
В1	5/3/04	Cementing equipment on location	1.0	\$	450.00	\$	450.00
B1	5/4/04	Cementing equipment on location	0.5	\$	450.00	\$	225.00
В3	5/3/04	Cement, plug #1, sxs	36	\$	10.50	\$	378.00
В3	5/4/04	Cement, plug #2, sxs	57	\$	10.50	\$	598.50
B3	5/4/04	Cement, set P&A marker, sxs	12	\$	10.50	\$	126.00
Wirel	line Servi	ces:					
C1	4/27/04	Wireline unit on location, used	1.0	\$	250.00	\$	250.00
C3	4/27/04	Perforate squeeze holes at 152'	1.0	\$	300.00	\$	300.00
Pack	ers, Retai	iners & Casing Scrapers:	* :				
D3	5/4/04	Cement retainer, tubing set, 5-1/2"	1.0	\$	900.00	\$	900.00
D4-	5/4/04	Casing scraper rental, 5-1/2"	1.0	\$	250.00	\$	250.00
Work	strings &	Miscellaneous Rentals:					
E1.1	5/3/04	Workstring rental, 2-3/8, feet	1176	\$	0.12	\$	141.12
E6.3	5/3/04	Companion flange rental, 5-1/2"	1.0	\$	50.00	\$	50.00
E14	5/3/04	Waste fluid container, days used	2.0	\$	30.00	\$	60.00

1 of 2

Rig #9

A-PLUS WELL SERVICE, INC.

P.O. BOX 1979 FARMINGTON, NM 87499 505-325-2627 • FAX: 505-325-1211

May 5, 2004

New Mexico Oil Conservation Division

2 of 2

Aztec District

1000 Rio Brazos Road

Invoice 3305

Rig #9

Aztec, NM 87410

For the plug and abandonment of the **HSGU #10**, a Gallup well located in NE, Section 30, T-31-N, R-16-W, San Juan County, NM. Review report for work details. This work done under NMOCD PA: 41-521-07-00028; Purchase Doc.: 04-199-000549.

Cost Summary:

Continued:

ID#	Date	Item Description	Units	U	nit Cost	Е	xtension
Trans	sportatio	n and Miscellaneous Services:					
F1.a	5/3/04	Unit #141, Haul waste pit # 525 and workstring	2.0	\$	74.00	\$	148.00
F1.b	5/4/04	Unit #141, Move workstring into position	2.0	\$	74.00	\$	148.00
F1.c	5/7/04	Unit #152, haul waste pit to land farm	1.375	\$	74.00	\$	101.75
F1.d	5/5/04	Unit #19 and gooseneck, haul tubing to A+ yard	1.0	\$	50.00	\$	50.00
F4	4/26/04	Float with workstring, rental	2.0	\$	15.00	\$	30.00
F6.a	4/27/04	Unit #265, Haul 1 loads of water to central tank	3.5	\$	50.00	\$	175.00
F14	4/23/04	Purchase water , above	1.0	\$	20.00	\$	20.00
F6.b	4/26/04	Unit #134, Haul 1 load of water to location	2.0	\$	50.00	\$	100.00
F6.c	4/27/04	Unit #134, Haul 1 load of water to location	2.0	\$	50.00	\$	100.00
F6.d	4/26/04	Unit #155, Haul / hold waste water from steel pit	2.0	\$	50.00	\$	100.00
F6.e	4/26/04	Unit #155, Haul / hold waste water from steel pit	2.0	\$	50.00	\$	100.00
F7	5/14/04	B-hoe, Clean up location and wellhead	6.75	\$	50.00	\$	337.50
F7	5/17/04	B-hoe, Clean up location and wellhead	2.00	\$	50.00	\$	100.00
F2	5/17/04	Helper for B-hoe, pick up trash and load junk	2.00	\$	20.00	\$	40.00
F11	4/26/04	P&A marker, purchase	1.0	\$	120.00	\$	120.00
Third	d Party Se	ervices:					
G1	5/4/04	Industrial Ecosystems, Inv #3987	1.0	\$	52.50	*	
		land farm solid material from steel pit					
	2		Total	\$	52.50		
		Third Party Handling Charge	8%	_\$_	4.20	. \$	56.70
Salva	age Credi	t:					
S1	Salvage,	2-3/8" EUE tubing, 38 joints, heavy paraffin	1178	\$	0.60	\$	(706.80)
		1		TO	TAL	\$	7,449.77
		ok tol taymant	TAX	6	.3750%	\$	474.92
		ok tok taymant					

THANK YOU

Charle Them 6-10-04

TOTAL DUE \$ 7,924.69

DEPUTY OIL & GAS INSPECTOR, DIST. &

Original signed by Chaplie T. Perfen

submitted in lieu of Form 3160-5

UNITED STATES DEPARTMENT OF THE INTERIOR BUREAU OF LAND MANAGEMENT



Sundry Notices and Reports on Wells

		5.	Lease Number 14-20-603-734
1 Tvr	pe of Well	6.	If Indian, All. or
	WIW		Tribe Name
			Navajo
		7.	Unit Agreement Name
	me of Operator		Horseshoe Gallup Unit
Vui	can Minerals & Energy, c/o NMOCD, Aztec District Office	8.	Well Name & Number
3 Add	dress & Phone No. of Operator	0.	HGU #10
	000 Rio Brazos Road, Aztec, NM 87410 505-334-6178	9.	API Well No.
			30-045-10386
4. Loc	cation of Well, Footage, Sec., T, R, M	10.	Field and Pool
			Horseshoe Gallup
198	30' FNL, 660' FEL, Sec. 30, T31N, R16W	11.	_
			San Juan County, NM
12. CHI	ECK APPROPRIATE BOX TO INDICATE NATURE OF NOTICE, F	REPORT, OTHER DA	ATA
	pe of Submission Type of Action	,	
•		nge of Plans	
		Construction	
		-Routine Fracturing	
		er Shut off	
	Final Abandonment Altering Casing Conv	ersion to Injection	
	34161	•	
13. Des	scribe Proposed or Completed Operations	,	
	A-Plus Well Service Plugged and Abandoned the above we	ell NMSA 1978, Se	ection 13-1-127,
	Purchase Agreement Number: 41-521-0700028, Purchase I	Number: 04-199-00	00549.
5/3/04	MOL. RU. Layout relief line to steel pit. Blow well down. ND w	ellhead Release na	cker NITBOP with
0/0/0-1	companion flange, test. TOH and LD 37 joints 2-3/8" tubing ar		
	workstring and round-trip 5-1/2" casing scraper to 1176'. TIH an		
	of CR and circulate well clean with 29 bbls of water. Pressure		
	with CR at 1176', spot 36 sxs cement inside casing above CR up	p to 866' to isolate G	allup interval. TOH
EIAIOA	with tubing. SI well. SDFD.	t- O bala	a at 457) - Catablish
5/4/04	Held JSA. No pressure on well. RU A-Plus wireline truck. Performing circulation out bradenhead with water. Pump additional 16 bbls		
	Plug #2 with 57 sxs cement pumped down the 5-1/2" casing from	n 157' to surface, cir	culate good cement
	out bradenhead. ND BOP. Dig out and cutoff wellhead. Found		
	at surface in annulus. Mix 12 sxs cement to install P&A marker.	RD and MOL.	· ·
	J. Walker, US EPA, B. Freeman, Navajo EPA, and H. Villanueva	, NMOCD, were on!	location.
	71.11.441.1		
SIGN	ATURE Min to Contractor Contractor	Ma	ay 31, 2004
	William F. Clark		
			•
	pace for Federal or State Office use)		
	OVED BY Title		Date
CONDI	TION OF APPROVAL, if any:		

22401

A - PLUS WELL SERVICE P.O. BOX 1979 • FARMINGTON, NM 87499 505-325-2627 • FAX (505) 325-1211

Rig No_#09 Date 05/03/04 Day MON

	e Hors	ESHOE GALLUP UNIT 10 Company PLAYA MINERALS LENEIRLY
FROM	то	DESCRIPTION OF OPERATION
5:30	5:45	LOAD RIG SUPPLIES
5:45	6:45	TRAVEL TO RIG. (1464 # 09)
6:45	7:15	START RIC AND EQUIPMENT. HELD PRE-JOB SAFETY MEETING.
		ROAD RIG AND EQUIPMENT TO LOCATION
8:00	9:00	SPOT RIC. RIG UP.
9:00	9:30	NIPPLE UP FLOWLIARS TOPIT, OPEN WELL (LESSTHAN 10 PSI)
9:30	10:00	NIPPLE DOWN WELLHEAD.
10:00		RELEASE PKR.
	11:00	NIPPLE UP BOP/COMPANION FLANGE. TEST RAMS
11:00	12100	LAY DOWN 37 JTS-2 1/2" TBG AND 51/2" AD-1 PACKER.
12:00	ļ	PILK UP AND TIH/37 ITS . 2 1/8" A-PLUS WORK STRING / 51/2" CSG SCRAPER.
	12:45	FOT @ 1176'
12:45	1:30	TOH/TBG AND CSG SCRAPER.
1:30	2:15	TIH / 51/2" DHS COT AND TRG. SET CRT @ 1176 OK'D 134 HENRY VILLAMIEVA
2:15		STING OUT GICKT. CIRCULATE HOLE CLEAN/29 BBLS WATER
		PRASSURE TEST CSC TO SOOPSI. HELD PRESSURE 5 MIN. NO PRESSURE LOSS.
		BURD PRESSURE Off.
	4:30	STING IN TO CRT. INSECT FLUID FROM PIT BELOW CRT. STING OUT OF CRT.
4:30		PLUL #1- MIX AND PUMP 36 SXS (NF FROM 1176' TO TOCA 866'
	5:00	DISPLACE.
5:00		LAY DOWN THE AND STINGER
	6:00	SECURE WELL.
6:00	7:00	TRAVEL TO YARD,
		·
		LEROY LEE NAVASU EPA
		JIM WALKER / US EPA ON LOCATION
		HENRY WILLAMILVA NMOCH
		VAL EUINTILLE / NAVAJO MINERALS)

Fuel & Motor Oil	Water Hauled
Rental Equipment	Cement Retainers 5½" ONS © 1176'
Cementing Pluck1-36 sxs	

CREW	NAME	UNIT #	MILEAGE	HOURS
Supervisor	MIKE HIGOON	#2/		
Operator	JESUS JACOBO	#19		13.5
Helper	LORENZO RODRIGUEZ			13,5
Helper	ABAN REYES			13.5
Helper	CHRIS MONTANAZ			13.5
Trainee				

RCI Form - 0801114A

A - PLUS WELL SERVICE P.O. BOX 1979 • FARMINGTON, NM 87499 505-325-2627 • FAX (505) 325-1211

Rig No_#9	Date <u>05/04/04</u> Day <u>TUE</u>
Well Name HORSESHOE GALLUP UNIT # 10	COMPANY PLAYA MINERALS LENERGY

FROM	то	DESCRIPTION OF OPERATION
5:30	5145	LOAD RIC SUPPLIES
5:45	6:95	TRAVEL TO LOCATION
6:45	i	START RIG AND EQUIPMENT, HELD PRE-TOB SAFETY MEETING.
7/15		OPEN WELL (NO PRESSURE)
		RIL UP WIRELINE. RIH/WIRELINE. PERFORATE 2-21/8" SQUEEZE HOLES @
		157, POH/WIRELINE, RIL DOWN WIRELINE.
		PUMP / GBBLS FRESH WATER DOWN CSG TO CIRCULATE CLEAN OUT
	8:30	BRADENHEAD.
8:30		PLUG #2 - MIX AND DUMP 57 5x5 CMT DOWN CSG TO CIRCULATE GOOD CMT
	9:00	OUT BRADENHEAD.
9:00	9:30	NIPPLE DOWN BOP/COMPANION FLANGE.
9:30		DIG OUT AND CUT OFF WELLHEAD. CMT @ SURF IN 51/2"CSG
	10:00	PLACE PAA MARKER 125x5 CMT CMT @SURF IN 898 CSG
0:00	11:30	RIG DOWN, CUT OFF RIG ANCHORS
	-	
	-	
 -		
	 	
	1	
		HENRY VILLANGEVA/NMOCI)
		JIM WALKER US EPA ON LOCATION
	 	BILL FREEMAN / NAVAJO EPA
		The state of the s

Fuel & Motor Oil	Water Hauled
Rental Equipment	Cement Retainers
Cementing PLuc #2 - 57 5x5 PIA MAR	xeR/12 5x5
Wireline 2- 2/8" BI-WIRE SHOTS @ 157	

1/2 day

CREW	NAME	UNIT#	MILEAGE	HOURS
Supervisor	MIKE HIGDON	#21		
Operator	JESUS JACOBO	419		6.0
Helper	LORENZO RUDRIGUEZ			6.0
Helper	ADAN REYES			6.0
Helper	CHRIS MONTANEZ			6.0
Trainee	The second secon			an a promo

Date:	Truck #: 🗸	41	
Event: #1	From: HGu # P9 To: HGU #10	Hours	1/1
Start:	What: HAUL PIT \$515 AND FLOAT \$ 98/ WORKSTRING TO LUCATION	1 7	9 11.0
05/03/04	AND SPUT IN PLACE STANDRY	1	1 ' '
Stop:	Charge to: PLAYA MINERALS & ENERCY % NMOCI)	2.0	
Section (sec			
Event: #2	From: HGu 410 To:		111.6
Start:	What: STANDRY FOR RIG UP TRUCK		$\{ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \$
5/09/04			
Stop:	Charge to: PLAYA MINERALS & ENERGY YOMOOD	14.0	.
Event: #3	From: To:		1
Start:	What:		•
		 	1
Stop:	Charge to:		1
			1
Event: #4	From: To:		1
Start:	What:		
·			
Stop:	Charge to:		
Event: #5	From: To:	T	1
Start:	What:	_	1
			ł
Stop:	Charge to:		1
			1
Event: #6	From: To:]
Start:	What:	<u> </u>	
Stop:	Charge to:		
Event: #7	From: To:		1///
Start:	What:	- 	1 / 1
·			
Stop:	Charge to:		
			1
Event: #8	From: To:		<u> </u>
Start:	What:	<u> </u>	1
			1
Stop:	Charge to:		
			.
	Driver: MIKE HIGDON	3.0	
Diesel:	Helper		1
Oil:	NM MILES: UT MILES:		1
			1
Remarks:			
	NMAN HOUT]
	Re 10 bound der houling		
	was the same of the same of	- 1 - 1, 1	1.
	workstring & State Pul	and the second second second	Marie Company
		5	ł

Date: <u> </u>	boy	Truck #: _/ 52	2
Event: #1	From: DPLUS (NOLL TO: What: POR TRIP INSPORTION)	Но	urs
Start: ~ 130	What: \$105 TRIP INSPECTION	152	
		,	5
Stop: 8,00	Charge to:		
Event: #2	What: DRIVE TO LOCATION FICK TOP TET & EMPTY & TIKE BIC. Charge to: "BLM"	11 # 13	
Start: <i>[,' 0</i> 0	What PRING To LOCATION Put the	Prof. T. S. S.	3
~	TET & IMPTY STIKE BACK	& To Vapo solano	
Stop: //.00	Charge to: "BLM."	, ,	
Event: #3	From: To:	· · · · · · · · · · · · · · · · · · ·	
Start:	What:		
Stop:	Charge to:		
Event: #4	From: 10:		
Start:	What:		
Stop:	Charge to:		~
Event: #5	From: To:		
Start:	What:		
otart.	witat:		
Stop:	Charge to:		
Event: #6	From: To:		
Start:	What:		
			
Stop:	Charge to:		
Event: #7	From: To:		
Start:	What:		
Stop:	Charge to:		
· · · · · · · · · · · · · · · · · · ·			
Event: #8	From: To:		
Start:	What:		
Stop:	Charge to:		
	Driver: Dusne Gustin	<u></u>	5
Diesel: N/A	Helper		<u>ب</u>
Oil:		TMU CO.	
J11;	NM MILES: 20 CO MILES: UT	MILES:	
Remarks:	SOHWY 30 OIRT		
	a win.		
<u> </u>	diagre 0		
	NMOCO LICH	1 8,4/0/13	
	HERER LANDS		
. 1 . 1	Hand sugarts not L. T.E.	To summade !	
	12 13 day 1 1 1 1 1 1 1 1	2 - Conyyou	
	seuda from Funt: 19	wan 8	<u> </u>
	Liver ai all		

A - PLUS WELL SERVICE
P.O. BOX 1979 • FARMINGTON, NM 87499
505-325-2627 • FAX (505) 325-1211

ig No	# 9	· .	Date <u>05/07/0</u>	1 Day <i>f</i>	RI
/ell Nam	e Horse	SHOE GALLUP UNIT #29	Company PLAYA	MINERALS &	ENERGY
FROM	то	DESCRIPTION OF OPE	RATION		
-00	5:00	ROAD RIG AND EQUIPMENT TO LOCA	TION A		
5100	6:00	TRAVEL TO YARD (Crew To	wel)		
			· · · · · · · · · · · · · · · · · · ·		
	:				
-					
,					
	-				
)			
		A first.			
en energy	***************************************		a southwest A	· · · · · · · · · · · · · · · · · · ·	
		11	·/	0 #	^ 7
		Unet #19 56	ose we	<u> </u>	
	 				
	 	Houl tuding	4	1+	and.
		/ / cu / aging			gail
·	 	turn.			
		#		#	<i>ن</i>
		H56"47 -	1 hr	@50	
		11 - SU # 10		250	cV
		758.0 " 10 =	1 M	@ 50	
	-				1
	1				
iel & Me	otor Oil	Water Hauled			
	quipment				
ementin	ng	en e		<u> </u>	
ireline .			· . · · · · · · · · · · · · · · · · · ·		
CRE	Ŵ	NAME	UNIT#	MILEAGE	Hours
Superv	risor	MIKE HIGON	.±21.		
Operat	or - · ·	JESUS JACOBO	#19		5,0
Helper		ORENZO RODRIGUEZ			5.0
Helper		DAN REYES			5.0
Heiner		TOMAN KETES			1010

Trainee RCI Form - 0801114A

A-Plus Well Service, Inc.

P.O. Box 1979, Farmington, NM 87499 505-325-2627

Date:	7-07 Truck #: \(\)	26.5	/
Event: #1	From: A - plus To:	Hours	
Start: 5,30	What: Pag CK 265		•
		.5	
Stop: 6,00	Charge to: N. / V. O-C. D.		7.5
Event: #2	From: Farmington hydrat To: Honseshow Cullap		
Start: 6:00	What: hauled / lagal From Farainty	5	,
	had I had From Shirdrock		7/4
Stop: //:00	Charge to: NM. O E.O.		7 hrs
Event: #3	From: Horse shop Gullow To: A-plus		
Start: / /:00	What: Food Tim in	1.5	
Stop: 12:30	Charge to: N.A.O.C.D.		
Event: #4	From: A wtm To:		
Start: 7 2 30	From: Hyth To:		•
Start. / 2.30	Wild		
Stop: 2:30	Charge to:		•
Event: #5 Start:	From: To: What:		
Start:	TVVIId.		
Stop:	Charge to:		
Event: #6	From: To:		
Start:	What:		
Stop:	Charge to:		
Event: #7	From: To:		
Start:	What:		
Stop:	Charge to:		
Event: #8	From: To:		1-1.0
Start:	What:		
Stone	Charge to:	/	
Stop:	ional ge to.		
	Driver: Le Ron Macer		
Diesel:	Driver: Lekon Mace L. Helper US		
Oil:	NM MILES: 56 CO MILES: UT MILES:		
Remarks:	HSGW # 9 3 # 10		
	HSGN = 9 3 #10	/	The hul
			7 701/
	Hauled Loads of water to		
	water tank		
	Develope Plant & marin 2	- AGCI Form -080158A	

Date:		: <u>134</u>
Event: #1	From: #6u #09 To: #6u #10	Hours
Start:	What: HAUL I LOAD FRESH WATER TO LOCATION	
05/03/04	AND STANDRY	
Stop:	Charge to: PLAYA MINERALS LENERLY % NMOLD	2.0
vent: #2	From: HGU 10 To:	
Start:	What: HAUL I LOAD TO LOCATION	
05/04/04		
Stop:	Charge to: PLAYA MINERALS & ENERLY YOMMOLD	70
Event: #3	From: To:	
Start:	What:	
Stop:	Charge to:	
Event: #4	From: To:	
Start:	What:	
Stop:	Charge to:	rui w
Event: #5	From: To:	
Start:	What:	
Stop:	Charge to:	
Event: #6	From: To:	
Start:	What:	
:		
Stop:	Charge to:	
vent: #7	From: To:	
Start:	What:	
Stop:	Charge to:	
vent: #8	From: To:	
Start:	What:	
Stop:	Charge to:	
		1/1
	Driver: MIKE HIGDON	4.0
Diesel:	Helper	
Oil:	NM MILES: CO MILES: UT MILES:	
Remarks:		
	NOTOCO FRANTO	
	Water bruch for houling /	
	lovel fresh wester	
	-L	

F6.6

P.O. Box 1979, Farmington, NM 87499 505-325-2627

Date:		<u>55</u>
Event: #1	From: HGu #09 To: HGu #10	Hours
Start:	What: ROAD TO LOCATION AND STANDAY FOR DISPOSAL	
05/03/04		
Stop:	Charge to: PLAYA M WERALS & ENERLY YO NMOCD	2.0
Event: #2	From: HGU 4/0 To:	
Start:	What: STANDRY AND EMPTY PIT	
05/04/04		
Stop:	Charge to: PLAYA MINERALS & ENERLY % NMOCD	10
Event: #3	From: To:	
Start:	What:	
Stop:	Charge to:	
Event: #4	From: To:	
Start:	What:	
Stop:	Charge to:	
otop.	John 30 to.	
Event: #5	From: To:	
Start:	What:	
Stop:	Charge to:	
Event: #6	From: To:	
Start:	What:	
Stop:	Charge to:	
Event: #7	From: To:	
Start:	What:	
Stop:	Charge to:	
Event: #8	From: To:	
Start:	What:	
Stop:	Charge to:	
Diesel:	Driver: MIKE HIGDON Helper	4.0
Oil:	NM MILES: CO MILES: UT MILES:	
Remarks:		
	NMCCD FISH #10	
	NMCD FISH #10 Water truck for disposal	
	Water truck for accorded	
	evetes	

e³⁰

76.e

A-Plus Well Service, Inc. P.O. Box 1979, Farmington, NM 87499

	A-Plus Well Service, Inc. P.O. Box 1979, Farmington, NM 87499 505-325-2627	6059 NO LIEN	nV
Date: <u>5-/4</u>	<u>/-04</u> Truck#:		=
Event: #1	From: \mathcal{L} - \mathcal{R} - \mathcal{W} To:	Hours	17
Start: 5:30	What: PAS TRIP 24-85 & BH 1. LOND BACKHOG ONTO	110013	1 4
0,0	UNIT 24	1.25	7
Stop: 6, 45	Charge to:]
Event: #2	From: 4.560 # 10		1
Start: 675	What: DRIVE TO LOCATION	1.25	1
2,73		1	
Stop: <i>8; ∞</i>	Charge to:		J
Event: #3	From: 14560 * 10 To:	Angerian Liberton seven.	-11
Start: 8,'00	What: GRASS BACK HOS	1.5	6.75hrs
			16, 17
Stop: 8, 30	Charge to:]
Event: #4	From: <i>ALSGO ** 10</i> To:		1
Start: 8, 30	What: LEAN LOCATION	2.25	1
			1
Stop: // '00	Charge to:]
Event: #5	From: μςςυ * 10 Το: Δ- Ρ-ω	<u> </u>	1
Start: //, ' 60	What: DRIVE BACK TO YARD	1.5	1
Stop: /2:33	Charge to:		
Event: #6	From: To:		1
Start:	What:		1
]
Stop:	Charge to:	PROTECTION AND AND AND AND AND AND AND AND AND AN	
Event: #7	From: To:	T	
Start:	What:		
Stop:	Charge to:		
Event: #8	From: To:		
Start:	What:		
Stop:	Charge to:		
owp.	Charge to:		
	Driver: DUNNE GUSTIN	6-75	1/17
Diesel: 3/, 6	Helper	6-73	1 +12
Oil:	NM MILES: CO MILES: UT MILES:		(/
Remarks:	19.2 Gar 1/24 24		
/	MOD HOW HO		1756
	All I		Gotom
	Clean Location		
			/ / / · \

Date: 5 /7 0 V

Truck #: <u>& 4</u>

Date: <u>\$ /7</u>	_ <u> </u>	04
Event: #1	From: A - A - W To:	Hours
Start: 6,130	From: A-B-W To: What: PRE TAIR UNIT 24 5 87 HOOK UP TO	
	87	1.5
Stop: 7, რა	Charge to:	
Event: #2	From: D. P. W To: CAUE PIPE What: Ourono Pipe from Tas 29 5 271	
Start: 7. 60	What: ONLOND PIPE FROM THE 39 5 271	1.5
Stop: 용; 3ට	Charge to:	
Event: #3	From: A-P-W To: USAU * 10 What: CLEAN # LOCATION "DONE"	
Start: ゟ゚゚゚ゔ゚゚゚ゟ	What: CLEAN # LOCATION DONE	ð
01	Observation Acres	
Stop: /0,'60	Charge to:	
Event: #4	From: PSGU # 10 To: USGU # 9 What: CLEAN LOCATION CONF"	
Start: / 0, 00	What: CLEAN LOCATION CONE"	3 芸
		3.25
Stop: / 45		
Event: #5	From: HSEU# S TO: HSEU# 7 What: # CLOAN LOCATION "BONE"	
Start: / . ' 4'5'	What: # CLOAN LOCATION "DONE"	3.3
		3-75
Stop: 4,145	Charge to:	
Event: #6	From: To:	
Start:	What:	
Stop:	Charge to:	
Event: #7	From: To:	
Start:	What:	
Stop:	Charge to:	
Event: #8	From: To:	
Start:	What:	
Stop:	Charge to:	
	Driver: DUINE GUSTIN	11.5
Diesel:	Helper Tasen Bizzeu	11.5
Oil:	NM MILES: SO CO MILES: UT MILES:	
Remarks:	50 HWY - 20 DIRT	
e A	Su pay so grai	
	40011#11	
<u> </u>	1/364/0	
10		
- K	f 1/2 // 2	
///	(lear Up	
14 0		1 1



Industrial Ecosystems Inc.

P.O. Box 2043

Farmington, NM 87499

PH: (505) 632-1782

Fax: (505) 632-1876

TAX I.D. #94-3200034

Invoice Number: 3987

Invoice Date:

May 12, 2004

Page:

1

PLEASE REMIT PAYMENT TO:

Industrial Ecosystems, Inc.

c/o John J. Kiely

401 S. Lasalle St., Suite 606

Chicago, Illinois 60605

Sold To: A PLUS WELL SERVICE

PO BOX 1979

FARMINGTON, NM 87499

Location: NMOCD/BLM -40 BILL CLARK

HSGU 8,9,10,13

Contact	Payment Terms	Due Date	Customer PO	
NMOCD/BLM -40	Net 30 Days	6/11/04		

Quantity	Description	Unit Price	Extension
	MATERIALS RECEIVED ON 5/4/04 MATERIALS TRANSPORTED BY A-PLUS WELL SERVICETRUCK #152 DISPOSED OF CEMENT WASTE		
1.00	DISPOSAL CHARGE	210.00	210.00
	NON TAXABLE	- 4	
	6'-1	5250	
		14	

FOR BILLING INQUIRIES PLEASE CALL (505) 632-1782

ACCOUNTS ARE DUE NET 30 DAYS. PURCHASER AGREES TO PAY FINANCE CHARGES OF 1.5% PER MONTH (ANNUAL PERCENTAGE RATE OF 18%) OR A MINIMUM CHARGE OF .50 PER MONTH. ACCOUNTS THAT HAVE BEEN PLACED FOR COLLECTION WILL BE CHARGED A \$100.00 COLLECTION FEE IN ADDITION TO REASONABLE ATTORNEY FEES AND COLLECTION CHARGES.

Subtotal	210.00
Sales Tax	12.73
Total Invoice Amount	. 222.73

TOTAL 222.73



NEW MEXICO ENERGY, MINERALS and NATURAL RESOURCES DEPARTMENT

GARY E. JOHNSON
Governor
Betty Rivera
Cabinet Secretary

Lori Wrotenbery
Director
Oil Conservation Division

CERTIFICATE OF WASTE STATUS

1	1. Generator Name and Address	2. Destination Name:
	Central Resources, Inc.	J.F.J. Landfarm
	P.O. Box 1247	c/o Industrial Ecosystems Inc.
	Bloomfield, NM 87413	420 CR 3100 Aztec, NM 87410
-	3. Originating Site (name):	ocation of the Waste (Street address &/or ULSTR):
1	HSGU #8, 9, & 10 Section 30, T31N, R16W, San Ju	an County, NM
-	HSGU #13 Section 32, T31N, R16W, San Ju	
1	attach list of originating sites as appropriate	•
	4. Source and Description of Waste	
	Cement wash up water from cementing truck and waste w	ellbore fluids circulated out of well.
<u> </u>		
and Reco	pher W. Clark representative for A-Plus Well Service Inc. do very Act (RCRA) and Environmental Protection Agency's Jul ppropriate classification)	hereby certify that, according to the Resource Conservation y,1988, regulatory determination, the above described waste is:
<u>X</u> EX		IPT oilfield waste which is non-hazardous by characteristic product identification
and that n	nothing has been added to the exempt or non-exempt non -haz	ardous waste defined above.
For NON	A-EXEMPT waste the following documentation is attached (characteristics) MSDS InformationOthOthCRCRA Hazardous Waste AnalysisChain of Custody	neck appropriate items): ner (description
	te is in compliance with Regulated Levels of Naturally Occ 3.1 subpart 1403.C and D.	curring Radioactive Material (NORM) pursuant to 20
Name (O	original Signature): hub a llash	
Title:	V.P. Operations	(6-2)
Date:(05/04/04	
•	A CONTRACTOR OF THE STATE OF TH	

A-PLUS WELL SERVICE, INC.

P.O. BOX 1979 FARMINGTON, NM 87499 505-325-2627 • FAX: 505-325-1211

April 30, 2004

CAVE Enterprises

PO Box 79 Flora Vista, NM 87415

Invoice #3279

Rig #9

For used rods and tubing from Horseshoe Gallup Unit wells, located in Section 29, T31N, R16W, San Juan County, NM.

This material was credited to NMOCD on the appropriate invoice.

Cost Summary:

HSGÚ Well	Feet	Type and Size	\	/alue		Salvage
#244	1116	36 joints 2-3/8" tubing	\$	0.80	\$	892.80
#242	992	32 joints 2-3/8" tubing	\$	0.80	\$	793.60
#8	1240	40 joints 2-3/8" tubing, heavy paraffin inside	\$	0.60	\$	744.00
#9	1178	38 joints 2-3/8" tubing, heavy paraffin inside	\$	0.60	\$	706.80
#220	1178 47	38 joints 2-7/8" tubing 3/4" used sucker rods, plain	\$ \$	0.90 5.00	\$ \$	1,060.20 235.00
#7	1302	42 joints 2-3/8" tubing, fiberglass lined	\$	0.70	\$	911.40
#10	1178	38 joints 2-3/8" tubing, heavy paraffin inside	\$	0.60	\$	706.80
#271	1271	41 joints 2-3/8" tubing, heavy paraffin inside	\$	0.60	\$	762.60
#246	1240	40 joints 2-3/8" tubing, heavy paraffin inside	\$	0.60	\$	744.00
e e e		en de la companya de La companya de la co		. •	\$	7,557.20

NM TAX Exempt - Resale

THANK YOU

. 196**4**

TOTAL DUE: \$: 7,557:20